FHAEE KHMMEARZESE BARHRESE

gE 1—2

1 ®mA (BifE - A)
ThRE REZR HEipEE
# B 2 2] I it oy i B9
A) (B) (C=A+B) ® (E=D-C)
1 WEE |1 @he wWehsE 0 2,068,000 2,068,000 2,068,000 0 |EE#HEIE
2 &g |1 ABE =Eikol 4,121,000 0 4,121,000 4,121,000 0| KHFHHRTEHES
3 #BHEE | 1 BEgs Bie 548,700 0 548,700 0 -548,700 |HiEEZHE
4 FURA [ 1 FEUNA FHIANA 0 0 0 37 37 |FEEFA
mAGE 4,669,700 2,068,000 6,737,700 6,189,037 -548,663
2 B (BifE : A)
2t - i
% T E s |wAmokmE| o | e B0
(A) (B) (C=A+B)
1 REE SEE 229,000 0 229,000 187,787 -41213 |&EBEARERES
1 EEE
2 EBE ERE 50,000 0 50,000 8,750 -41250 | EHARE
2 EX£EB |1 ££B = 4,332,700 0 4,332,700 3,784,000 -548,700 |stEI{ERRE S8
3 THE|1 FPHE FinE 58,000 0 58,000 0 -58,000
4 {HEE | 1 WS WenE 0 0 0 2,068,000 2,068,000 |EEMHBIEEET~
mHEE 4,669,700 0 4,669,700 6,048,537 1,378,837
mAREZLE 6189037 H — MmHREZL 6048537 A = 140500 [ -+ ZZFITDOVWTIIREE~DZHE

(RHSFEEICHIARBREEELTRM)




